Lidingd BK

Barometer simultan/deltavling 2022-11-21

Partavling, 4 bord, 8 par. Antal brickor: 24. Medel: 72.0.

Plac Par Poang % Namn MID Klubb
1 3 86 59.72 Hans Nerell - Peter Flodgvist 85810 14778 Vastra Bjare BK - BK S:t Erik
2 6 84 58.33  Anders Petersson - Hans Lofgren 62288 46070 Lidingd FLP - Lidingd BK
3 1 82 56.94 Peter Gavatin - Leif Tollin 1634 8534  Liding6 FLP - Lidingdé BK
3 2 82 56.94 Hans Otterstrom - Claes Nordmark 1983 33201 Lidingd BK
5 7 78 54.17 Paulina Sundin - Ake Otterstrém 54971 1957  Lidingd FLP - Lidingd BK
6 4 63 43.75 Marianne Gloudemans - Ann-Christine Montalvo 13037 17913 Lidingd BK
6 8 63 43.75 Eva Elfgren - Andrzej Wojcik 86131 19174 Lidingd BK
8 5 38 26.39 Marianne Jacobsson - Leif Jacobsson 52460 85406 Lidingd BK
1 4 D73 2 &« EKn4 3 432 4 & K62
Nord v KD832 Ost v43 Syd v EDKNn9743 Vast vKD743
Ingen 41032 NS + K106 (0)%) +53 Alla ¢ E52
»K9 #E10765 *K4 »32
«E1085 494 21073 &K5 «D8 « EK96 4ED4 409853
vKn9 vE6 vKD102 v EKn765 vK52 v- v E86 v 105
¢Kn87 ¢ KD65 + 852 ¢ DKn3 ¢ ED42 986 +D9763 ¢ K104
D864 #EKn1053 #432 D98 D765 #EKNn10983 *Kn7 #K1085
& KKn62 4 D9862 4« Kn10754 & Knl107
v 10754 v 98 v 1086 v Kn92
¢+ E94 + E974 ¢ KKn107 ¢ Kn8
*72 #KKn »2 #ED964
Par Kontr Ut Res Poéang [Par Kontr Ut Res Poéang [Par Kontr Ut Res Poéang [Par Kontr Ut Res Poéang
24 2vN= 49 110 6.000(65 24 S+2 vK 170 6.000(6 5 440+2 T -170 6.0 0.0|6 5 24 V-2 &3 200 5.0 1.0
65 3vyN-1 ¢K -50 4020(7 1 34S= vK 140 3.030(2 4 5vDN-24A -300 3.030|71 240-2 »2 200 5.0 1.0
71 INO+1 v4 -120 1.050(8 3 34 S= vK 140 3.03.0(8 3 4vDN-24A -300 3.030(|24 3y N+1 49 170 1.05.0
83 2NO= v4 -120 1.050(2 4 2¢vO0= 46 -110 006.0(7 1 3NV+2 ¢vQ -660 00 6.0|8 3 2v N+2 ¢4 170 1.0 5.0
5 « ED10542 6 410832 7 .- 8 & K965
Nord v DKn8 Ost v 973 Syd v 652 Vast v E652
NS + K4 ov 465 Alla 49872 Ingen + DKn
*75 #E1097 #E98652 #Kn84
&« K97 4« Kn63 4KD75  4Kn6 4 D10985 & EKn7 «D « E108732
v109542 vE76 vKn8652 v KD vE4 vD1087 v DKn7 v 84
¢ DKn105 ¢E8 + Kn4 410932 ¢ EKn653 ¢ D104 + K104 4763
»2 #DKn943 *K8 #DKn642 &D #KKn10 #D109732 &#EK
48 2 E94 & K6432 4 Kn4
vK3 vE104 v KKn93 v K1093
497632 + EKD87 + K + E9852
»EK1086 #53 #743 #65
Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang
35 2NV-3 &7 150 6.000(16 INS+1 v2 120 4020(16 44V-1 &A 100 5010|16 340-2 &6 100 5.0 1.0
72 3vyV-1 ¢K 50 4020(35 INS+1 v2 120 4.020(48 44V-1 9 100 5010(|72 3NV-2 ¥2 100 5.0 1.0
16 24 N-1 ¢A -100 2.04.0|7 2 INS+1 4K 120 4.0 20(3 5 44V= 92 -620 2040|35 24 0= 4J -110 1.0 5.0
48 3NN-2 #4 -200 006.0(48 INS= 5 90 006.0|/72 3NO+1 v3 -630 006048 24V+1l ¢Q -110 1.0 5.0
9 442 10 498763 11 # 85432 12 «Kn9
Nord v Kn1043 Ost v EKKn54 Syd v 985 Vast v 965
ov + ED6 Alla + DKn3 Ingen ¢+ K4 NS ¢ 1063
*K862 »- #Kn92 #ED532
293 « EKn10765 «ED2 4 KKnl1054 « EKD10 97 476542 4103
vD9762 v- v 862 vD73 v 104 vD3 v73 v KDKn84
410752 ¢ KKn43 410764 ¢ K9 ¢+ DKn1082 49753 ¢E75 ¢ KKn984
*Kn4 D97 #DKn7 %652 #D5 #K10863 #974 »6
« KD8 .- & Kn6 « EKD8
v EK85 v 109 v EKKn762 vE102
+98 + E852 +E6 ¢ D2
#E1053 #EK109843 *E74 #KKn108
Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang
85 3NS= 49 400 6.000(21 4vN+1 K 650 6.000(21 4vDS= A 590 6.000|46 54S= ¢A 600 6.00.0
21 4vS-1 49 -50 3.030(85 54S= &4A 600 4020|85 2vS+2 4A 170 4.020(2 1 44N+1 vK 150 3.0 3.0
73 4vS-1 49 -50 3.0 3.0(7 3 3#S+3 ¢4 170 2040|146 3vS= &4A 140 1050(85 2#S+3 v7 150 3.0 3.0
46 4vS-2 49 -100 0.06.0(46 4#S= 46 130 006.0|7 3 3¥vyS= 4A 140 1050|7 3 3NS-1 ¢5 -100 0.0 6.0
13  DKn765 14 & K96432 15 » EK654 16 473
Nord v 1092 Ost v10 Syd v 107 Vast v 10863
Alla + 954 Ingen +73 NS + D2 ov + D53
#Kn6 #8632 #EK96 #K875
4 E982 4K1043 4DKn7 485 & Kn97 « D32 s E « DKn52
vEDKn vK&85 vEKn82 vD754 v KDKn542 v983 vKDKn42 v975
¢ ED32 ¢ KKn876 + 864 ¢ KKn1095 ¢ K108 4 965 ¢ E9872 ¢ KKn6
*92 &4 #E104 &D5 &Kn D843 *62 &E43
.- «E10 108 » K109864
v 7643 v K963 vE6 vE
+10 + ED2 + EKn743 ¢ 104
#EKD108753 #KKn97 #10752 #DKn109
Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang
68 4¢ O+1 #A -150 6.000(6 8 24 S+2 ¢4 170 6.000(7 4 34 N+1 ¢9 170 6.00.0|3 2 4vV= &7 -620 50 1.0
74 54 0= #A -600 4020(3 2 24 S+1 6 140 204.0(3 2 3#N-1 ¥8 -100 204.0(|6 8 4vV= 43 -620 50 1.0
32 440= #A -620 1050(51 24 S+1 ¢4 140 2040(51 24 N-1 ¥3 -100 204.0|51 4vV+1l 47 -650 1.0 5.0
51 44 0= &A -620 1.050(7 4 24 S+1 vA 140 20 40(6 8 44 N-1 ¢9 -100 20 4.0|7 4 4vV+1l ¢3 -650 1.0 5.0
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17 « EKn73 18 » 10654 19 « Kn8d4 20 & K8632

Nord v K95 Ost v EK8732 Syd v EKn42 Vast v 86
Ingen + DKn64 NS +6 ov + D932 Alla 463
*94 »K7 #E10 #Kn762
«D9 # 862 4EKD98 42 +1063 «ED2 «E « Kn1095
vEKn3  vD842 vD9 v 64 v D75 v 106 vEKKNn95 v D742
¢ 975 ¢ K832 ¢ Kn543 ¢ D9872 ¢+E10 ¢ KKn74 ¢ Kn9854 ¢ 10
#108632 #D5 +83 #DKn652 #Kn8742 #KD93 «K10 #9843
« K1054 «Kn73 « K975 4 D74
v 1076 v Kn105 v K983 v 103
¢EL0 ¢ EK10 ¢ 865 ¢ EKD72
#EKKn7 *E1094 #65 #ED5
Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang
75 44 S+3 5 510 600043 4vN= 42 620 4.020|75 INO= 38 90 6.0 0.0(75 4v V-1 &2 100 6.00.0
4 3 44 S+2 #»2 480 4.020(|6 2 4vyN= 42 620 4020|433 INO+2 8 -150 2.04.0(8 1 3¢ S-2 vA -200 40 2.0
6 2 44 S+1 #3 450 2040(75 4v N= 42 620 4.020(62 INO+2 &6 -150 2.04.0(|6 2 4vV= 46 -620 2.0 4.0
81 44 N= v4 420 006.0(81 2vN+2 42 170 006.0|81 INO+2 ¢8 -150 2.0 4.0|4 3 5¢DS-4 vA -1100 0.0 6.0
21 495 22 aK 23 «ED 24 4965
Nord v EDKn103 Ost v EK943 Syd vD1098 Vast v D105
NS ¢ EKKn (0)Y) + E10876 Alla ¢ 72 Ingen 41053
*K64 *K2 #D10753 #KKn42
«D « KKn108763 « E1097 « DKn43 «Kn987432 4 K105 «KKn1043 4ED
v8542 vK7 v 82 v75 v 765 v EK42 v Kn972 v EK84
7654 +82 *K 49432 5 ¢ K93 ¢ED ¢ Kn9842
210752 »E8 #D107543 #EKn9 *E4 K92 83 &75
4 E42 #8652 46 4 872
v 96 v DKn106 vKn3 v63
+D1093 ¢ DKn5 + EDKn10864 + K76
#DKn93 »86 #Kn86 #ED1096
Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang
76 44D0O-2v9 300 6.000(7 6 4vS+1 #7 450 6.00.0(28 3NO= vJ -600 6000|54 4vV-1 #4 50 6.00.0
13 4¢ N+1 8 150 402028 4vN= v7 420 303013 4eV= ¢7 -620 3.030|28 3vO+3 42 -230 4.0 20
28 24 0= v9 -110 204.0(54 4vN= «Q 420 3030|76 4e4V= 7 -620 3.030|13 4vV= #4 -420 20 40
54 3NS-3 «Q -300 006013 4vrN-1 «Q -50 0.06.0(54 44V +1l ¢7 -650 006.0|76 4vV+1l &2 -450 0.0 6.0
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